fr———r .- — - + 5 N -

Losungsskizze KA 13/1 MA1 2007/08
Aufgabe 1

»() (><) x-) e T W el gk | v
_% | | | A le | | X . i
A {_‘l(%). 3 ()( /f)w ||+ [%—/r)m i & '@w l

nx

E W;-(wa) ‘X @ |

\(\(%)“M(""’(K”? T
e napEaEEE
+. o (x-4)" N'Vi"eiﬁ&

1 N
R S

= Jn(»é/f)h -
. ((V}*%)x | (e da) +[;4~»4)xm)
:_V'} (}2)(1 7 /{) (!X 4)14-22\4%
) (T e
5u.;/a¢cme.; x;=s/ BN T AR
5%**:& T

m afwlm o xfz(v(x@ |

j‘er | R(t"la" X - ’(u 99/77 JH‘(PZ i

qC r f:.'\_:...-. Vo*?e— J-u,—uec (m | - I Xol= 2]
: ‘—/ j i . I 7| C’d’r e A | e——?:u:.f
| u?t ﬁc-v/ vy EC!&F , (R=2) PR

HENBENEANE NS5 RNEYAERARS AR




e

|ﬁ[g@ '§“"DA
Lq,(wfifm_.‘ i
Q}{ ]aée| >q 57(1

j_ ans

QLD&L %“““V - | | ] |

[\l > 2 % I isd@)[l M‘sj




A3 {;(%) = () el
pochell okey RTTIE .}.\m
[l e™ le = [len)?e™ ] = 260 1 4
P o {I? | | - | | | | |
= [ 204 ¢ij i ([-ff (-] [4 -%‘éf“””‘)

=[ we] (A ]e [ ge
[ (;4 Z;zw( -~ % +4 +—§)@2%]'
[ (x. 3x+-‘;é)€2jj |

Spety F(%) “'-F ‘52{' (%2 *3)4 ‘”;:' )ﬁ | + o

A4 Q\; aé; ﬂ< b3 dof f:?)z Er;ccv}(/t. oAIJ

= ff(»c)v& F//f) ——F(’o)

] 1(/(—31»-5)61——

= (ed-5) =

I

IEIER

<SHERN

H

F[&’) * F(u)

| 2
BN IIRECEE BTN

"o

1 o= .fg(;)?(;{_

e rgsm& 50\4*# m
| | j g{;x)_o{x = |l 9{“)

LU



Gloy = O a4l babd [ &
v L\./CLlS \LL'-J £ 4¢ AL (&/f //0

| Qf(u— Gl = Zl4d 3 ol | b
| 6; l/HOV'-O)L)-*- LS)L.?,_,/ b—-’{ s
G (0) \[‘ (0) ) @ L\/")'L 6 /A e Al
J"’ ST —t v—o*—-oé-\
T

] ?{so _t:; 0 /z-g AN,
p«,/rvzf// -

CBdec el | gt ¢ e e
Movotorie leeve | abe ol G
feomn eve Jolele b | Ll &
s E,-e. g’te//l" ‘-”\J)l L.)*t:e'E et |
r 7

Xl = 1AL

1

&—Jri)i? L—::l\-.,/r‘e(q |




